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Question 1

Question Type: MultipleChoice

A company deploys an application via containers in its local data center. As soon as the application goes into production, it starts to
crash at specific hours of the day. After investigation, it is concluded that the crashes are due to too many users accessing the
application simultaneously. The spikes must be addressed and allow for future growth without discarding the investment already made.
Which deployment model must be used?

Options:

A- hybrid cloud
B- edge
C- private cloud

D- public cloud

Answer:

A

Question 2




Question Type: MultipleChoice

A developer completed the creation of a script using Git. Before delivering it to the customer, the developer wants to be sure about all
untracked files, without losing any information. Which command gathers this information?

Options:

A- git clean --n
B- gitrm --f
C- git clean --r

D- gitrm *

Answer:

A

Question 3

Question Type: MultipleChoice

Which HTTP method is used by webhooks and notifies a listener about an event change?



Options:

A-PUT
B- POST
C- PATCH
D- GET

Answer:

B

Question 4

Question Type: MultipleChoice

Which port does HTTPS use by default?

Options:




A- 433
B- 443
C- 803
D- 883

Answer:

B

Question 5

Question Type: MultipleChoice

What is the purpose of running tests before writing code in test-driven development?

Options:

A- to find unexpected failures in the tests
B- to demonstrate that the tests fail for expected reasons

C- to ensure that the tests pass



D- to provide proof of the work carried out

Answer:

Question 6

Question Type: DragDrop

Refer to the exhibit.



get_interface_info_by_idldevice_id, headers=None, "“request_parameters) [source]

Returns list of interfaces bv specified device.

from dnacentersdk import DMACenterAPI
base_url = 'https://10.9.11.226"

| |= 'da4606c3-63ad-4ed4-B8£35-6bfecTc2df04’

nac = |rn-tllrng me="cisco", pn-\quﬂrr'i='-n-:-rf-r"

base url=base url, ver51nn='1 3.3", verify=Falae)

| |— [item['portMame"'] for item in

Q u estqeh 7 |.g=t_:|.n:erfac:_;nfﬂ_by_hd {(device id) ['response']]

or parameters that may be added in the future).

k th f. ports on the device
Egﬁaﬁiog ¥p$nEAH Qﬁg}ﬁgﬂﬁérfaces contains {len(port list))} items."')

: bracket notation.

§ Output

\Whts & bapiity bt AASHle HRybHS? *==-

DNAC Ed | [ device_id |[pwacenterapr||[  DNAC
routers art liSt | | routers | | devices |
vpLIUllb - VAT INTIEUnELUuUESL — 11 U TE0guiest Uy CiSd el iy v ani.
- They execxte scheduIEd tasks regularly.
« ApiError the DNA Center cloud returns an error.

- TSy UCHrie Uic siale 101 a dcvice COTguratiort.
C- They collect SNMP logs from networking devices.

D- They utilize the target device agent to execute.




Answer:

Question 8

Question Type: DragDrop

Refer to the exhibit.

Inject the image mylmage.

I trATITME ™ A=+ =1

; from the left that the contents of this Dockerfile accomplish onto the right. Not all options

Inject the image mylmage. step 1
N Pull the image mylmage. step 2
Execute the “data” script under “/bin/sh”. step 3

Establish a volume whose root is “/data”.".

Put the user in a shell inside the container |.
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